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PART–A (GENERAL KNOWLEDGE) 

1. Consider the following paragraph: 
He was seriously injured in police lathi Charge in 
Lahore during demonstration against Simon 
commission for which he subsequently died in 
November, 1928. Later on the British officer, who was 
responsible for lathi charge on him was shot dead by 
Bhagat singh and Rajguru. 
The revolutionary referred to in the above paragraph 
is. 
(A) Pandit Govind Ballabh Pant 
(B) Lala Lajpat Rai 
(C) Mangal Singh 
(D) Motilal Nehru 

1. fuEufyf[kr iSjkxzkQ ij fopkj djsa& 

og lkbeu deh”ku ds fo:) çn”kZu djus ds nkSjku ykgkSj esa 

iqfyl ykBhpktZ esa xaHkhj :i ls ?kk;y gks x, ftlds dkj.k 

mudh ckn esa uoEcj] 1928 esa e`R;q gks x;hA mlds i”pkr 
fczfV”k vf/kdkjh tks fd mu ij ykBhpktZ ds fy, ftEesnkj Fkk 

mldks Hkxr flag ,oa jktxq: us xksfy;ksa ls Hkwu MkykA  

mijksä iSjkxzkQ esa lanfHkZr ØkfUrdkjh gS& 

(A) iafMr xksfoUn cYyHk iar 
(B) ykyk yktir jk; 
(C) eaxyflag 
(D) eksrhyky usg: 

2. Which of the following Article of Constitution of 
India entrusts parents with the responsibility of 
providing opportunities for education to their 
children? 
(A) Article 21(A) 
(B) Article 51(A) 
(C) Article 45 
(D) Article 350(A) 

2. fuEufyf[kr esa ls Hkkjrh; lafo/kku dk dkSu&lk vuqPNsn cPpksa 

dh f”k{kk ds fy, volj çnku djus dh ftEesnkjh muds 

vfHkHkkodksa ij Mkyrk gS% 

(A) vuqPNsn 21(A) 
(B) vuqPNsn 51(A) 
(C) vuqPNsn 45 
(D) vuqPNsn 350(A) 

3. State which is wrong about Home Rule 
Movement: 
(A) It was led by Lok Manya Tilak and Annie Besant 
(B) Tilak & Annie Besant set up their separate 

league 
(C) The Home rule leagues movements were India’s 

response to world War-II 
(D) Annie Besant founded her separate Home Rule 

League with George Andrule 

3. gkse :y vkUnksyu ds lanHkZ esa dkSu&lk dFku vlR; gS% 

(A) bldk usr`Ro yksdekU; fryd rFkk ,uh fclsaV }kjk fd;k 
x;k 

(B) fryd ,oa ,uh fclsaV us vius&vius i`Fkd yhx dh 

LFkkiuk dh 

(C) gkse:y yhx vkUnksyu Hkkjr dh fo”o ;q)&II dh çfrfØ;k Fkh 
(D) ,uh fclsaV us i`Fkd gkse&:y yhx tktZ ,UMªwy ds lkFk 

LFkkfir fd;k 

4. If the price index for the year 2002 was 120 and 
for the year 2003, it is 130. The rate of inflation 
would be: 
(A) 7.69% (B) 10% 
(C) 8.3% (D) 13% 

4. ;fn o’kZ 2002 dk dher lwpdkad 120 gS rFkk o’kZ 2003 dk 
dher lwpdkad 130 gS rks eqækLQhfr dh nj gksxh% 

(A) 7.69% (B) 10% 
(C) 8.3% (D) 13% 

5. Speaker of the Lok Sabha may be removed from 
the office by: 
(A) A resolution passed by a majority of all members 

of the House 
(B) The order of President of India 
(C) A resolution passed by at least 2/3 of the total 

membership of the house 
(D) The ruling party adopting a no confidence motion 

5. yksd&lHkk lHkkifr dks mlds dk;kZy; ls fu’dkf’kr fd;k tk 

ldrk gS% 

(A) ml lnu ds lHkh lnL;ksa ds cgqla[;d lnL;ksa }kjk çLrko 
ikfjr djds  

(B) jk’Vªifr ds vkns”k }kjk 

(C) lnu ds dqy lnL;ksa ds de ls de 2/3 lnL;ksa }kjk 
çLrko ikfjr djds 

(D) lÙkk:<+ ny }kjk vfo”okl çLrko ikfjr djds 

6. Day and night are equal on 21st March at: 
(A) Tropic of Capricorn 
(B) Tropic of Cancer 
(C) Equator 
(D) None of these 

6. fnu o jkr 21 ekpZ dks cjkcj gksrs gSa% 

(A) edj js[kk ij 
(B) ddZ js[kk ij 
(C) Hkwe/; ij 
(D) buesa ls dksbZ ugha 
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7. Who amongest the following introduced the 
doctrine of lapse whereby in absence of natural 
heir, the sovereignity of Indian states was to lapse 
to British: 
(A) Lord Hardinge 
(B) Lord William Bentinck 
(C) Lord Dalhousie 
(D) Lord Hastings 

7. fuEufyf[kr esa fdlus O;ixeu dk fl)kUr is”k fd;k ftlds 

}kjk çkÑfrd mÙkjkf/kdkjh dh vuqifLFkfr esa Hkkjrh; jkT;ksa ds 

vkf/kiR; dk O;ixeu czhfV”k dk gksuk Fkk% 

(A) ykMZ gkfM±x 
(B) ykMZ fofy;e csfUVad 
(C) ykMZ MygkSth 
(D) ykMZ gsfLVaXl 

8. Largest-Indian state in terms of area is: 
(A) Madhya Pradesh (B) Maharastra 
(C) Rajasthan (D) Karnataka 

8. {ks=Qy dh n`f’V ls Hkkjr dk lcls cM+k jkT; gS% 

(A) e/; çns”k (B) egkjk’Vª 
(C) jktLFkku (D) dukZVd 

9. Which of the following is not a member of 
SAARC? 

(A) Bhutan (B) Bangaladesh 
(C) Mauritius (D) Maldives 

9. fuEufyf[kr esa ls dkSu ,d lkdZ dk lnL; ugha gS% 

(A) HkwVku (B) ckaxykns”k 
(C) ekjh”kl (D) eky}ho 

10. The black hole theory was discovered by: 
(A) Hargobind Khurana 
(B) C.V. Raman 
(C) S. Ramnijan 
(D) S. Chandrashekhar    

10. dkys fNæ ¼CySd gksy½ dk fl)kUr fdlds }kjk [kkstk x;k% 

(A) gjxksfoUn [kqjkuk 
(B) lh-oh- jeu 
(C) ,l- jkefutu 
(D) ,l- pUæ”ks[kj 

11. Who developed Hydrogen Bomb? 
(A) Samuel Cohen 
(B) Wernher von Braun 
(C) Edward Teller    
(D) J. Robert Open Heimer 

11. gkbZMªkstu ce fdlus fodflr fd;k\ 

(A) lSe;wy dksgsu 
(B) ouZgj okWu czkmu 
(C) ,MoMZ Vsyj 
(D) ts- jkWcVZ vksisu ghej 

12. A line on a meteorological map joining places of 
equal rainfall is called: 
(A) Isoclinic (B) Isobar 
(C) Isogenic (D) Isohyet 

12. ekSle lEcfU/kr uD'ks ij leku o"kkZ ds LFkkuksa dks tksM+us okyh 

,d js[kk gS] tks dgykrh gS% 

(A) vkblksDyhfud (B) vkblksckj 

(C) vkblkstsfud (D) vkblksgkbV 

13. The colour of star is an indication of: 
(A) Weight 
(B) Distance 
(C) Temperature 
(D) Size 

13. rkjksa dk jax O;ä djrk gS mldk% 

(A) Hkkj 
(B) nwjh 
(C) rkieku 
(D) vkdkj 

14. ELISA test is used to detect 
(A) Malaria infection 
(B) Cholera infection 
(C) HIV infection 
(D) Lung infection 

14. ELISA ijh{k.k fuEu ds igpku gsrq gksrk gSa 

(A) eysfj;k laØe.k 
(B) gStk laØe.k 
(C) ,p vkbZ Ogh laØe.k 

(D) QsQM+ksa dk laØe.k 

15. It is an industrial process of producing ammonia 
by the reaction of nitrogen with hydrogen in the 
presence of a catalyst: 
(A) Solvay Process 
(B) Bayer Process 
(C) Haber Process 
(D) Bessemer Process 

15. mRçsjd dh mifLFkfr esa ;g gkbZMªkstu ds lkFk ukbZVªkstu dh 

vfHkfØ;k }kjk veksfu;k cukus dk ,d vkS|ksfxd çØe gS% 

(A) lkYos çØe 
(B) cs;j çØe 
(C) gScj çØe 
(D) cslsej çØe 
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16. Which schedule of the constitution of India 
describes the allocation of seats in the council of 
states? 
(A) Fourth (B) Third 
(C) Tenth (D) Eighth 

16. Hkkjrh; lafo/kku dh dkSu&lh vuqlwph jkT; ifj’kn dh lhVksa ds 

c¡Vokjs ds ckjs esa o.kZu djrh gS\ 

(A) pkSFkh (B) rhljh 
(C) nloha (D) vkWBoha 

17. The mass of a body at the centre of earth is: 
(A) Less than at the surface 
(B) Remains constant 
(C) More than at the surface 
(D) Zero 

17. i`Foh ds dsUæ ij] fdlh fi.M dk æO;eku gksxk% 

(A) lrg ls de 
(B) fLFkj 
(C) lrg ls vf/kd 

(D) 'kwU; 

18. In drinking water number of coliform bacteria 
should not exceed: 
(A) 0/100 ml (B) 1/100 ml 
(C) 10/100 ml (D) 100/100 ml 

18. ihus ds ikuh esa dksyhQkeZ thok.kq dh la[;k blls T;knk ugha 

gksuh pkfg,% 

(A) 0/100 ml (B) 1/100 ml 
(C) 10/100 ml (D) 100/100 ml 

19. Which state of India has declared “Mallkhamb” as 
its state sports: 
(A) Maharastra (B) Madhya Pradesh 
(C) Delhi (D) Karnataka 

19. Hkkjr esa dkSu&ls jkT; us ßeYy[kEcÞ dks viuk çknsf”kd [ksy 

?kksf’kr fd;k gS\ 

(A) egkjk’Vª (B) e/;&çns”k 
(C) fnYyh (D) dukZVd 

20. Winner of Nobel prize 2013 for literature is: 
(A) Alice Munro (B) Lars Peter 
(C) Robert Shiller (D) Eugene Fama 

20. lkfgR; ds fy, 2013 ds ukscsy iqjLdkj fotsrk gS% 
(A) ,ykbl equjks (B) yklZ ihVj 
(C) jkcVZ f”kyj (D) ;wthu Qkek 

21. Which state/union territory registered the highest 
percentage of voter turnout in recently held Lok 
Sabha General Election–2014: 
(A) Dadar & Nagar Haveli (B) Lakshadweep 
(C) Nagaland (D) Tripura 

21. fdl jkT;@la?k”kkflr {ks= esa vHkh gky gh esa gq, yksd&lHkk 

vke pquko 2014 esa ernkrkvksa }kjk lokZf/kd çfr”kr ernku 

Mkyk x;k% 

(A) nknj ,oa uxj gosyh (B) y{k}hi 
(C) ukxkyS.M (D) f=iqjk 

22. Who recently won the men’s Italian Tennis open 
2014: 
(A) Rafael Nadal (B) Novak Djokovik 
(C) Donna Vekic (D) Dominika Cibulkova 

22. vHkh gky gh esa iq:’k bVsfy;u Vsful vksisu 2014 fdlds }kjk 
thrk x;k% 

(A) jQsy uMy (B) uksod tksdksfod 
(C) Mksuk osfdd (D) Mksfefudk flcqydksok 

23. Which country emerged as third largest economy 
of the world in 2011 in terms of the purchasing 
power parity according to world Bank report 
released on 29th April, 2014: 
(A) Japan (B) China 
(C) India (D) Russia 

23. 29 vçSy] 2014 dks çdkf”kr fo”o cSad fjiksVZ ds vuqlkj Ø; 

“kfä lerk ds en esa 2011 esa fo”o dk rhljh lcls cM+h 
vFkZO;oLFkk ds :i esa dkSu&lk ns”k mHkjk% 

(A) tkiku (B) phu 
(C) Hkkjr (D) :l 

24. Who has recently won 2014 Pultizer prize in the 
poetry category: 
(A) Gobind Beharilal 
(B) Jhumpa Lahiri 
(C) Vijay Seshadri 
(D) Siddharath Mukherjee 

24. vHkh gky gh esa dfork Js.kh esa 2014 iqfyRt+j iqjLdkj fdlus 
thrk% 

(A) xksfcUn fcgkjhyky 
(B) >qEik ygjh 
(C) fot; “ks’kkfæ 
(D) fl)kFkZ eq[ktÊ 

25. Who was recently appointed as Deputy Governor 
of Reserve Bank of India– 
(A) Anand Sinha (B) R Gandhi 
(C) D. K. Pathak (D) None of these 

25. vHkh gky gh esa fjt+oZ cSad vkWQ bafM;k dk fMIVh xouZj fdls 

fu;qä fd;k x;k% 

(A) vkuUn flUgk (B) vkj- xk¡/kh 

(C) Mh-ds- ikBd (D) buesa ls dksbZ ugha 
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PART–B (MATHEMATICS) 

26. Simplify 2

2

)4.25(
)54.2(

35.081.0
2.16045.0
+

××
×  

(A) 6.1 (B) 0.61 
(C) 0.061 (D) 6.16 

26. ljy djsa 2

2

)4.25(
)54.2(

35.081.0
2.16045.0
+

××
×

 

(A) 6.1 (B) 0.61 
(C) 0.061 (D) 6.16 

27. A number ‘a’ is short of ‘b’ by 40%. By what 
percent is ‘b’ in excess of ‘a’? 

(A) %
3
166  (B) %266     

3

(C) %
6
166  (D) None of these 

27. ,d la[;k ^a*] ^b* ls 40% de gSA ^b* ^a* ls fdruh 
çfr”kr vf/kd gS\ 

(A) %
3
166  (B) %

3
266  

(C) %
6
166  (D) buesa ls dksbZ ugha 

28. A two digit number is 3 times the sum of its digits. If 
45 is added to the number, its digits are interchanged. 
The sum of the digits of the number is: 
(A) 9    (B) 8 
(C) 5 (D) None of these 

28. nks vadksa dh ,d la[;k vius vadksa ds ;ksx dh frxquh gSA ;fn 

ml la[;k esa 45 tksM+k tkrk gS] rks bl la[;k ds vad ijLij 

cny tkrs gSaA ml la[;k ds vadksa dk ;ksx gS% 

(A) 9    (B) 8 
(C) 5 (D) buesa ls dksbZ ugha 

29. A man has to cover a distance of 6 km. in 45 
minutes. If he covers one-half of the distance in 
2/3rd time, what should be his speed to cover the 
remaining distance in the remaining time? 
(A) 12 km/hr.    (B) 14 km/hr. 
(C) 8 km/hr. (D) 10 km/hr. 

29. ,d O;fä 6 fdeh- dh nwjh dks 45 feuV esa r; djrk gSA ;fn 
og vk/kh nwjh dks 2/3 le; esa iwjk djrk gS] rks ckdh cph gqbZ 
nwjh dks cps gq, ckdh le; esa iwjk djus ds fy,] mldh pky 

D;k gksxh\ 

(A) 12 fdeh-@?kaVk (B) 14 fdeh-@?kaVk 
(C) 8 fdeh-@?kaVk (D) 10 fdeh-@?kaVk 

30. Raghu borrowed ` 25,000 at 20% per annum 
compounded Half-yearly. What amount of money 
will discharge his debt after one and a half years: 
(A) ` 28,275 (B) ` 36,275 
(C) ` 33,275 (D) None of these 

30. 20% çfro’kZ Nekgh pØo`f) C;kt dh nj ij j?kq ` 25,000 

_.k ysrk gSA 
2
11  o’kZ i”pkr mlds _.k dks dkSu&lh jkf”k 

eqä djsxh\ 

(A) ` 28,275 (B) ` 36,275 
(C) ` 33,275 (D) buesa ls dksbZ ugha 

31. (64)–2/3 × (1/4)–3  = ? 
(A) 4 (B) 1/4 
(C) 1 (D) 16 

31. (64)–2/3 × (1/4)–3  = \ 
(A) 4 (B) 1/4 
(C) 1 (D) 16 

32. In a camp, 95 men had provisions for 200 days. 
After 5 days 30 men left the camp. For how many 
days will the remaining food last now? 
(A) 180 (B) 285 
(C) 139 (D) None of these 

32. ,d f”kfoj esa] 95 O;fä;ksa ds fy, 200 fnuksa ds Hkkstu dh 
O;oLFkk FkhA 5 fnuksa ds i”pkr~ 30 O;fä f”kfoj NksM+dj pys 

x,A vc cpk gqvk Hkkstu fdrus fnuksa rd pysxk\ 

(A) 180 (B) 285 
(C) 139 (D) buesa ls dksbZ ugha 

33. A sum of ` 800 amounts to ` 920 in 3 years at 
simple interest. If the interest rate is increased by 
3%, how much could it amount to? 
(A) ` 1000 (B) ` 992 
(C) ` 942 (D) ` 900 

33. ` 800 dh jkf”k lk/kkj.k C;kt ij 3 o’kZ esa ` 920 gks tkrh 
gSA ;fn C;kt dh nj esa 3% dh o`f) gksrh gS rks jde fdruh 

gks tkrh\ 

(A) ` 1000 (B) ` 992 
(C) ` 942 (D) ` 900 

34. A takes twice as much time as B or thrice as 
much time as C to finish a piece of work. Working 
together, they can finish the work in 2 days. B can 
do the work alone in: 
(A) 4 days (B) 6 days 
(C) 12 days (D) 15 days 

34. fdlh dk;Z dks djus esa ^A*] ^B* ls nqxquk vkSj ^C* ls frxquk 

le; ysrk gSA ;fn os lkFk feydj dk;Z djrs gSa rks 2 fnuksa esa 
dk;Z iwjk dj ysrs gSaA ^B* vdsys ml dk;Z dks dj ldrk gS% 

(A) 4 fnu esa (B) 6 fnu esa 
(C) 12 fnu esa (D) 15 fnu esa 
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35. A train can travel 50% faster than a car. Both start 
from point A at the same time and reach point B 
75 kms away from A at the same time. On the way, 
however, the train lost about 12.5 minutes while 
stopping at the stations. The speed of the car is: 
(A) 100 km/h. (B) 110 km/h. 
(C) 120 km/h. (D) 130 km/h. 

35. ,d jsyxkM+h ,d dkj ls 50% rhoz ;k=k djrh gSA nksuksa ,d 

gh le;] ^A* fcUnq ls pyuk vkjaHk djrh gSa vkSj fcUnq ^B* 

ij tks fd ^A* fcUnq ls 75 fdeh- dh nwjh ij gS] ,d gh le; 
ij igq¡prh gSaA jkLrs esa] jsyxkM+h us fofHkUu LVs”ku ij :dus esa 

yxHkx 12.5 feuV yxk,A dkj dh xfr gS% 
(A) 100 fdeh-@?kaVk (B) 110 fdeh-@?kaVk 
(C) 120 fdeh-@?kaVk (D) 130 fdeh-@?kaVk 

36. The average weight of 8 person's increases by 2.5 
kg when a new person comes in place of one of 
them weighing 65 kg. What might be the weight of 
the new person? 
(A) 76 kg. 
(B) 76.5 kg. 
(C) 85 kg. 
(D) Data inadequate. 

36. 8 O;fä;ksa ds vkSlr Hkkj esa 2.5 fdxzk- dh o`f) gks tkrh gS 

tc muesa ls ,d 65 fdxzk- Hkkj ds O;fä ds LFkku ij ,d 

nwljk dk O;fä vk tkrk gSA ml u;s O;fä dk Hkkj D;k gS\ 

(A) 76 fdxzk- 
(B) 76.5 fdxzk- 
(C) 85 fdxzk- 
(D) vi;kZIr vk¡dM+s 

37. What is the value of 0.4 × 0.04 × 0.004 × 40? 
(A) 0.000252560 
(B) 0.002560 
(C) 0.2560 
(D) 0.02560 

37. 0.4 × 0.04 × 0.004 × 40 dk eku D;k gS\ 
(A) 0.000252560 
(B) 0.002560 
(C) 0.2560 
(D) 0.02560 

38. The difference between the compound Interest 
and simple interest on a certain sum at 10% per 
annum for 2 years is ` 631. Determine the sum: 
(A) ` 70,000 (B) ` 61,000 
(C) ` 62,000 (D) ` 63,100 

38. ,d fuf”pr jkf”k ij 10% çfro’kZ dh nj ij lk/kkj.k C;kt 

vkSj pØo`f) C;kt ds chp nks o’kZ dk vUrj ` 631 gSA og 
/kujkf”k gS% 

(A) ` 70,000 (B) ` 61,000 
(C) ` 62,000 (D) ` 63,100 

39. A train takes 20 seconds to cross a person who is 
travelling at a speed of 9km/hr in the same direction. 
If the length of the train is 150 meter, then how much 
time will the train take to travel 108 km? 
(A) 4 hours (B) 10.8 hours 
(C) 3 hours (D) 5 hours 

39. ,d jsyxkM+h ,d O;fä dks 20 lsds.M esa ikj dj ysrh gS tks 9 
fdeh-@?kaVk dh pky ls mlh fn”kk dh vksj ;k=k dj jgk gSA 

;fn jsyxkM+h dh yEckbZ 150 eh- gS rks 108 fdeh- dh nwjh 
r; djus esa jsyxkM+h fdruk le; ysxh\ 

(A) 4 ?kaVs (B) 10.8 ?kaVs 
(C) 3 ?kaVs (D) 5 ?kaVs 

40. The height of a right circular cylinder is 21cm. Its 
curved surface area is 924 sq cm. Then its volume is: 
(A) 1859 cu. cm 
(B) 1586 cu. cm 
(C) 3234 cu. cm 
(D) None of these 

40. ,d ledks.kh; o`Ùkh; csyukdkj dh Å¡pkbZ 21 lseh- gSA bldk 
oØh; lrgh {ks=Qy 924 oxZ lseh- gSA rks bldk vk;ru gS\ 

(A) 1859 ?ku lseh- 
(B) 1856 ?ku lseh- 
(C) 3234 ?ku lseh- 
(D) buesa ls dksbZ ugha 

41. 3 men and 6 women finish a job in 9 days while 2 
men and 8 women finish it in 12 days. In how 
many days will 12 women working alone will 
finish the same job? 
(A) 36 days (B) 30 days 
(C) 32 days (D) 34 days 

41. 3 iq:’k vkSj 6 efgyk,a ,d dk;Z dks 9 fnu esa iwjk djrh gSa 
tcfd 2 iq:’k vkSj 8 efgyk,a 12 fnu esa iwjk djrh gSaA ;fn 
dsoy 12 efgyk,a dk;Z djrh gSa rks dk;Z fdrus fnu esa iwjk 
gksxk\ 

(A) 36 fnu (B) 30 fnu 
(C) 32 fnu (D) 34 fnu 

42. 20 pens and 35 notebooks  were purchased for ` 
1100. If the average price of the pens was ` 13, 
find the average price of a notebook. 
(A) ` 32 (B) ` 28 
(C) ` 35 (D) ` 24 

42. 20 dye vkSj 35 iqfLrdk ` 1100 esa [kjhnh xbZA ;fn dye 
dk vkSlr ewY; ` 13 gS] rks iqfLrdk dk vkSlr ewY; crkvks\ 

(A) ` 32 (B) ` 28 
(C) ` 35 (D) ` 24 
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43. The ratio of the ages of Swetha and Santoshi is 
9:4. If after 10 years, Santoshi’s age would be the 
same as the present age of Swetha. Find the 
present ages of Swetha & Santoshi (in years)? 
(A) 9 years, 4 years 
(B) 36 years, 26 years 
(C) 27 years, 17 years 
(D) 18 years, 8 years 

43. “osrk vkSj larks’kh ds vk;q dk vuqikr 9:4 gSA ;fn 10 o’kZ 
i”pkr~ larks’kh dh vk;q “osrk dh orZeku vk;q ftruh gksxh rks 

“osrk vkSj larks’kh dh orZeku vk;q crk,a ¼o’kZ esa½\ 

(A) 9 o’kZ] 4 o’kZ 
(B) 36 o’kZ] 26 o’kZ 
(C) 27 o’kZ] 17 o’kZ 
(D) 18 o’kZ] 8 o’kZ 

44. If the diagonal of a rectangle is 17 cm long and 
the perimeter of the rectangle is 46 cm, then the 
area of the rectangle is: 
(A) 120 cm2 

(B) 112 cm2

(C) 132 cm2 

(D) 289 cm2

44. ,d vk;r dk fod.kZ 17 lseh- yEck gS vkSj vk;r dk ifjeki 

46 lseh- gS] rks vk;r dk {ks=Qy gS% 

(A) 120 lseh-2 

(B) 112 lseh-2

(C) 132 lseh-2 

(D) 289 lseh-2

45. The maximum length of iron rod that can be kept 
in a room of dimensions 10 cm × 8 cm × 6 cm is: 
(A) 10 cm 
(B) 10 √2cm 
(C) 11 √2cm 
(D) 12 cm 

45. ,d dejk ftldk vk;ke 10 cm × 8 cm × 6 cm gS] rks 

mlesa lokZf/kd fdruh yEch yksgs dh NM+ j[kh tk ldrh gS\ 

(A) 10 cm 
(B) 10 √2cm 
(C) 11 √2cm 
(D) 12 cm 

46. ` 1980 are divided among A, B, C so that half of 
A’s part, one-third of B’s Part and one-sixth of C’s 
part are equal. Then B’s part is: 
(A) ` 660 
(B) ` 360 
(C) ` 1080 
(D) ` 540 

46. ` 1980 dks A, B, C esa bl rjg foHkkftr djsa fd A dk 

vk/kk Hkkx] B dk ,d frgkbZ Hkkx vkSj C dk 1/6ok¡ Hkkx 
cjkcj gksA rks ^B* dk Hkkx gS% 

(A) ` 660 
(B) ` 360 
(C) ` 1080 
(D) ` 540 

47. The area of a rectangle with a side 144 m long is 
the same as that of a square having a side 84 m 
long. The width of the rectangle is: 
(A) 7 m 
(B) 14 m 
(C) 49 m 
(D) Can’t be determined 

47. ,d vk;r ftldh ,d Hkqtk 144 eh- yEch gS mldk {ks=Qy 
,d oxZ ds {ks=Qy ds leku gS ftldh ,d Hkqtk 84 eh- yEch 
gSA vk;r dh pkSM+kbZ gS% 

(A) 7 eh- 
(B) 14 eh- 
(C) 49 eh- 
(D) fu/kkZfjr ugha fd;k tk ldrk 

48. If the ratio of the areas of two squares is 9:1, the 
ratio of their perimeters is: 
(A) 9:1 (B) 3:1 
(C) 3:4 (D) 1:3 

48. ;fn nks oxks± ds {ks=Qy ds chp dk vuqikr 9:1 gS] rks muds 
ifjekiksa ds chp dk vuqikr gS% 

(A) 9:1 (B) 3:1 
(C) 3:4 (D) 1:3 

49. The ratio of the number of boys and girls in a 
school is 3:2. If 20% of the boys and 25% of the 
girls are scholarship holders, then the percentage 
of the students who do not get the scholarship is: 
(A) 68% (B) 78%    
(C) 82% (D) 72% 

49. ,d fo|ky; esa yM+ds vkSj yM+fd;ksa dh la[;k dk vuqikr 3:2 
gSA ;fn yM+dks dk 20% vkSj yM+fd;ksa dk 25% Nk=o`fÙk çkIr 

djrs gSa] rks tks Nk=o`fÙk ugha çkIr djrs gSa mu fo|kfFkZ;ksa dk 

çfr”kr crk,a% 

(A) 68% (B) 78%    
(C) 82% (D) 72% 

50. The average of seven consecutive positive 
integers in 26. The smallest of these integers is: 
(A) 21 (B) 19 
(C) 23    (D) 25 

50. Øekxr lkr /kukRed iw.kk±dksa dk vkSlr 26 gSA buesa lcls 
NksVk iw.kk±d gS% 

(A) 21 (B) 19 
(C) 23    (D) 25 

 

PHVBRHH–49 ( 5 1 7 3 1 3 )  [A–6]



PART–C (ENGLISH) 
51. Identify the incorrectly matched pair of singular and plural: 

(A) Dwarf ------ Dwarfs (B) Thief ------Thieves 
(C) Life ------ Lives  (D) Swine ------ Swines 

52. Some nouns have one meaning in singular, two in plural and some nouns have different meanings in 
singular and the plural. Find the odd one out on the basis of foregoing statements: 
(A) Ground (B) Good (C) Effect (D) Quarter 

53. Plural of the word “Index” which denotes as “signs used in algebra”. 
(A) Indexes (B) Indices (C) Indexs (D) Index 

54. In the following options, identify the sentence with interrogative adverb of manner: 
(A) How did you contrive it? (B) Where is Ram? 
(C) When did you come? (D) How many boys are there in your class? 

55. Some adverbs are the same in the form as the corresponding adjectives: that is, some words are used 
sometimes as adjectives, sometimes as adverbs. Find the odd one out on the basis of the foregoing 
statement: 
(A) He is quick to take offence. (B) He is little known outside India. 
(C) The teacher has a high opinion of that boy. (D) There is much truth in what he says. 

56. Four sentences have been given. You have to identify the sentences expressing “Adverb of Degree”: 
1. Sita sings delightfully. 2. The weather is delightfully cool. 
3. Do not go far. 4. Things are no better at present. 

(A) 1 and 2 (B) 2 and 4 
(C) 1 and 4 (D) 3 and 4 

57. Identify the kind of conjunction in the following sentence: 
His bark is worst than his bite. 
(A) Copulative coordinating conjunction (B) Disjunctive Coordinating Conjunction 
(C) Subordinating Conjunction (D) Illative coordinating conjunction 

58. Fill in the gap with suitable conjunction: 
He does well, ____ that he is nervous at the start. 
(A) only  (B) but 
(C) because (D) as 

59. In the following options you have to identify the sentence in which the bold word has been used as 
conjunction: 
(A) I have done that much only. (B) The evil that men do lives after them. 
(C) He lives so that he may eat. (D) That is what I want. 

60. In the following options, identify the option where bold word has been used as conjunction: 
(A) It is but right to admit our faults. (B) None but the brave deserves the fair. 
(C) We tried hard, but did not succeed. (D) There is no one but likes him. 

61. Choose the correct passive voice of the following sentence from choices given: 
Ought we to make any false claims? 
(A) Ought any false claims to be made by us? (B) Ought any false claims be made by us? 
(C) Ought any false claims should be made by us? (D) Ought any false claims we have to make? 

62. Choose the correct passive voice of the following sentence from choices given: 
Do not pluck flowers. 
(A) Flowers are not to be plucked (B) Let not be flowers to pluck 
(C) Let flowers not be plucked (D) Let flowers to be not plucked 

63. Fill in the gap with proper preposition: 
He succeeded ____ perseverance and sheer hard work. 
(A) By virtue of (B) By dint of  (C) By means of (D) By way of 
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64. Fill in the gap with proper preposition: 
He looked ____ his watch everywhere. 
(A) At (B) Upon (C) For  (D) By 

65. Fill in the gap with proper preposition: 
There was no money ____ him. 
(A) With (B) On  (C) To (D) About 

66. Fill in the gap with proper preposition: 
Cloth is sold ____ the yard. 
(A) At (B) From (C) Through (D) By 

67. Out of the four alternatives suggested choose the one which best expresses the same sentence in Indirect 
speech: 
He said to me, “When will you return the book?” 
(A) He asked me when I will return the book. (B) He asked me that when I will return the book. 
(C) He asked me when would I return the book. (D) He asked me when I would return the book. 

68. Out of the four alternatives suggested, choose the one which best expresses the same sentence in Indirect 
speech: 
He said to his teacher, “Good morning, sir.” 
(A) He said good morning to his teacher. (B) He said to his teacher good morning. 
(C) He wished good morning to his teacher. (D) He wished his teacher good morning. 

69. Out of the four alternatives suggested choose the one which best expresses the same sentence in Indirect 
speech: 
The class teacher said to me, “Is Ram absent today.” 
(A) The class teacher asked me if Ram was absent today. 
(B) The class teacher told me if Ram was absent today. 
(C) The class teacher asked me if Ram was absent that day. 
(D) The class teacher said to me if Ram was absent today. 

70. Fill in the gap suitably: 
Measles ___ infectious. 
(A) is (B) are (C) were (D) are being 

71. Identify the incorrect sentence. 
(A) I have been writing five letters since morning. (B) I have been writing letters since morning. 
(C) I have written four letters since morning. (D) I was writing letters 

72. Choose the word opposite in meaning to the given word. 
Spurious 
(A) Authentic (B) Truthful (C) Real (D) Credible 

73. Choose the word opposite in meaning to the given word. 
Frugal 
(A) Gluttonous (B) Miserly 
(C) Merciful (D) Extravagant 

74. Select the word which best expresses the meaning of the word from the words given below. 
INSATIABLE 
(A) Wild (B) Angry 
(C) Quick (D) Greedy 

DIRECTIONS: Pick up the right word which is most nearly the same in meaning as the Underlined word in the sentence 
and can replace it without altering the meaning of the sentence 

75. In spite of their efforts, the team of scientists could not make much headway to solve the problem: 
(A) Progress (B) Thinking 
(C) Efforts (D) Start 
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PART–D (REASONING AND ANALYTICAL ABILITY) 

76. Raghav left his home for office in car. He drove 15 
km. straight towards north and then turned 
eastwards and covered 8 km. He then turned to 
left and covered 1 km. He again turned left and 
drove for 20 km. and reached office. How far and 
in which direction is his office from the home? 
(A) 20 km North-West    
(B) 15 km North-East 
(C) 20 km North-East 
(D) 15 km North-West 

76. jk?ko vius ?kj ls dk;kZy; ds fy, dkj ls pykA og lh/ks 15 
fdeh- mÙkj dh vksj pyk vkSj fQj og iwoZ dh vksj eqM+dj 8 
fdeh- pykA fQj og ck,¡ eqM+k vkSj 1 fdeh- pykA iqu% ck,¡ 
eqM+dj 20 fdeh- pyk vkSj dk;kZy; igq¡p x;kA mlds ?kj ls 

mldk dk;kZy; fdruh nwj vkSj fdl fn”kk esa gS\ 

(A) 20 fdeh- mÙkj&if”pe 
(B) 15 fdeh- mÙkj&iwoZ 
(C) 20 fdeh- mÙkj&iwoZ 
(D) 15 fdeh- mÙkj&if”pe 

77. Sudhir ranks seventh from the top and 28th from 
the bottom. How many students are there in the 
class? 
(A) 35 (B) 36 
(C) 33 (D) 34    

77. lq/khj dk Øe “kh’kZ ls lkrok¡ vkSj ry ls 28ok¡ gSA d{kk esa 
fdrus fo|kFkÊ gSa\ 

(A) 35 (B) 36 
(C) 33 (D) 34    

78. Find the odd one out from the given alternatives: 
(A) School – Peon    
(B) Dance – Dancer 
(C) Art – Artist 
(D) Song – Singer 

78. fn;s x, fodYiksa esa ls fo’ke dks crk,a% 

(A) fo|ky; & pijklh 
(B) u`R; & urZd 
(C) dyk & dykdkj 
(D) xkuk & xk;d 

79. If the word ‘STOVE’ can be written as ‘FNBLK’, 
then how can the word ‘VOTES’ be written in that 
code? 
(A) BNLKF 
(B) KFLBN 
(C) LBNKF    
(D) NBLKF 

79. ;fn ^STOVE* “kCn dks ^FNBLK* fy[k ldrs gSa] rks 

^VOTES* “kCn dks mlh dwV Hkk’kk esa dSls fy[ksxsa\ 

(A) BNLKF 
(B) KFLBN 
(C) LBNKF 
(D) NBLKF 

80. If ‘dog’ is ‘cat’, ‘cat’ is ‘rat’, ‘rat’ is ‘mat’, ‘mat’ is 
‘cow’, then which one of the following is not an 
animal? 
(A) Mat (B) Dog 
(C) Rat (D) Cow    

80. ;fn ^dqÙkk* ^fcYyh* gS] ^fcYyh* ^pwgk* gS] ^pwgk* ^pVkbZ* gS] 

^pVkbZ* ^xk;* gS] rks fuEufyf[kr esa ls dkSu&lk ,d tkuoj ugha 

gS\ 

(A) pVkbZ  (B) dqÙkk 
(C) pwgk (D) xk; 

81. K says ‘O and M are my brothers’, K says ‘Q is 
father of M’, K says ‘T is brother of my father’. 
How is T related to M’s mother? 
(A) Brother (B) Father 
(C) Brother-in-law    (D) Husband 

81. K dgrk gS ^O ,oa M esjs HkkbZ gSa*] K dgrk gS ^Q, ‘M’ dk 
firk gS*] K dgrk gS ^T esjs firk dk HkkbZ gS*A T dk M dh 

ekrk ls D;k laca/k gS\ 

(A) HkkbZ (B) firk 
(C) nsoj (D) ifr 

82. In a group of 36 persons, a total of 16 take cold 
drink while 9 take only cold drink not green 
coconut drink. How many persons in this group 
take only green coconut drink but not cold drink. 
(Every person take drink either cold drink or 
green coconut or both): 
(A) 27 
(B) 25 
(C) 20    
(D) 22 

82. 36 O;fä;ksa ds lewg esa] 16 yksx dksYM fMªad ysrs gSa tc fd 9 
yksx dsoy dksYM fMªad ysrs gSa] ukfj;y ikuh ughaA bl lewg esa 

fdrus O;fä ,sls gSa tks dsoy ukfj;y ikuh ysrs gSa] dksYM fMªad 

ugha ¼çR;sd O;fä fMªad ysrk gS pkgs og dksYM fMªad gks ;k 

ukfj;y ikuh ;k nksuksa½% 

(A) 27 
(B) 25 
(C) 20    
(D) 22 
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83. In a classroom, there are 5 rows, and 5 children 
Akshay, Vineet, Sujeet, Guddu and Mangal are 
seated one behind the other in 5 separate rows as 
follows: 
Akshay is sitting behind sujeet but in front of Vineet. 
Sujeet is sitting behind Mangal. Guddu is sitting in 
front of Mangal. The order in which they are sitting 
from the first row to the last is. 

(A) Mangal, Sujeet, Guddu, Akshay, Vineet 
(B) Sujeet, Mangal, Guddu, Akshay, Vineet 
(C) Vineet, Guddu, Mangal, Sujeet, Akshay 
(D) Guddu, Mangal, Sujeet, Akshay, Vineet    

83. ,d d{kk esa 5 iafä;k¡ gSa vkSj 5 cPps] v{k;] fouhr] lqthr] 

xqM~Mw vkSj eaxy ,d ds ihNs ,d ik¡p i`Fkd iafä;ksa esa cSBs gSa 

tSls fd& 

v{k; lqthr ds ihNs ysfdu fouhr ds lkeus cSBk gSA lqthr 

eaxy ds ihNs cSBk gSA xqM~Mw eaxy ds lkeus cSBk gSA igyh iafä 

ls vafre rd os fdl Øe esa cSBs gSa\ 

(A) eaxy] lqthr] xqM~Mw] v{k;] fouhr 

(B) lqthr] eaxy] xqM~Mw] v{k;] fouhr 

(C) fouhr] xqM~Mw] eaxy] lqthr] v{k; 

(D) xqM~Mw] eaxy] lqthr] v{k;] fouhr 

84. If ‘SPARK’ is coded as ‘TQBSL’ what will be the 
code for ‘DAIRY’? 
(A) ADYJZ 
(B) CSJTZ 
(C) EBJSZ    
(D) FCJQZ 

84. ;fn ^SPARK* dk dksM ^TQBSL* gS] rks ^DAIRY* dk dksM 
D;k gksxk\ 

(A) ADYJZ 
(B) CSJTZ 
(C) EBJSZ    
(D) FCJQZ 

85. ‘A’ is older than ‘B’. ‘C’ is younger than ‘B’ and 
‘D’. ‘D’ is not as old as ‘A’. Who among A, B, C, 
and D is the oldest? 
(A) A    (B) B 
(C) C (D) None of these 

85. ^A*] ^B* ls cM+k gSA ^C*] ^B* ,oa ^D* ls NksVk gSA ^D*] ^A* 

ds ftruk cM+k ugha gSA A, B, C, ,oa D esa ls lcls cM+k dkSu 

gS\ 

(A) A    (B) B 
(C) C (D) buesa ls dksbZ ugha 

86. In a certain code ‘bad and good’ is written as 
‘325’, ‘two and none’ is written as ‘462’ and ‘that is 
bad’ is written as ‘159’. How would ‘good’ be 
written in that code? 
(A) 9 
(B) 3    
(C) 2 
(D) 2 or 3 

86. ,d fuf”pr dksM esa ^bad and good* dks ^325* fy[kk tkrk 
gS] ^two and none* dks ^462* fy[kk tkrk gS vkSj ^that is 
bad* dks ^159* fy[kk tkrk gSA rks ^good* dks mlh dksM esa 
dSls fy[ksxsa\ 

(A) 9 
(B) 3    
(C) 2 
(D) 2 ;k 3 

87. Insert the missing number choosing one from the 
options below: 

 
(A) 38 (B) 39    
(C) 37 (D) 36 

87. uhps fn;s x, fodYiksa esa ls ,d la[;k pqudj foyqIr la[;k  dh 

txg Hkjsa& 

 
(A) 38 (B) 39    
(C) 37 (D) 36 

88. In a row of children Meena is tenth from the left 
end and Kanta is eleventh from the right end, 
Vineeta is the twentieth from the right end and 
third to the right of Meena. How many children are 
there between Meena and Kanta? 
(A) 10 
(B) 9 
(C) 11    
(D) 12 

88. cPpksa dh ,d iafä esa ehuk ck,¡ Nksj ls nlosa LFkku ij gS vkSj 

dkUrk nk,¡ Nksj ls X;kjgosa LFkku ij gS] fouhrk nk,¡ Nksj ls 

chlosa LFkku ij gS vkSj ehuk ds nk,¡ ls rhljs LFkku ij gSA 

ehuk vkSj dkUrk ds chp esa fdrus cPps gSa\ 

(A) 10 
(B) 9 
(C) 11    
(D) 12 
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89. If ‘P’ means ‘+’, ‘Q’ means ‘X’, ‘T’ means ‘÷’ and 
‘V’ means ‘–’, then 18 P 12 T 4 Q 8 V 10 = ? 
(A) 28 (B) 36 
(C) 32    (D) 29 

89. ;fn ^P* dk vFkZ ^+*] ^Q* dk vFkZ ^X*] ^T* dk vFkZ ^÷* vkSj 

^V* dk vFkZ ^–* gS] rks 18 P 12 T 4 Q 8 V 10 = \ 

(A) 28 (B) 36 
(C) 32    (D) 29 

90. If C = 24 and HOT = 38, then FEAR = ? 
(A) 68 (B) 55 
(C) 78    (D) 46 

90. ;fn C = 24 ,oa HOT = 38] rks FEAR = \ 

(A) 68 (B) 55 
(C) 78    (D) 46 

91. ‘Puppy’ is related to ‘dog’ in the same way as 
‘Bunny’ is related to: 
(A) Bear 
(B) Rabbit    
(C) Monkey 
(D) Swan 

91. ^Puppy* dk tks laca/k dqÙkk ls gS Bhd mlh rjg ^Bunny* 
dk laca/k gS &  

(A) Hkkyw ls 
(B) [kjxks”k ls 
(C) cUnj ls 
(D) gal ls 

92. Complete the series by replacing the question 
mark (?). 
Q331T, U442X, Y553A, ? 
(A) Z662C (B) B664C 
(C) B661C (D) C664C 

92. bl Js.kh ds ç”uokpd fpUg ¼\½ ds LFkku ij D;k vk;sxk  

Q331T, U442X, Y553A, ? 
(A) Z662C (B) B664C 
(C) B661C (D) C664C 

93. In the following question pick the odd one out. 

(A) Road 
(B) Aircraft 
(C) Bridge 
(D) Tunnel 

93. fuEufyf[kr ç”uksa esa ls fo’ke dks pqusaA 

(A) lM+d 
(B) ,;jØk¶V 
(C) iqy 
(D) lqjax 

94. In the given figure, triangle represents girls 
studying in a girls college, square represents 
boys studying in boys college and circle 
represents students studying in university. The 
portion which represent girls and boys studying 
in university is: 

 

(A) 1 
(B) 2    
(C) 3  
(D) Data inadequate 

94. fn;s x, fp= esa] f=Hkqt yM+fd;ksa ds egkfo|ky; ftlesa dsoy 

yM+fd;k¡ v/;;u djrh gSa] dks çnf”kZr djrk gSA oxZ yM+dksa ds 

egkfo|ky; dks çnf”kZr djrk gS vkSj ftlesa yM+ds dsoy v/;;u 

djrs gSa vkSj o`Ùk fo”ofo|ky; esa i<+us okys fo|kfFkZ;ksa dks çnf”kZr 

djrk gSA fo”ofo|ky; dk dkSu&lk fgLlk tgk¡ yM+fd;k¡ vkSj 

yM+ds nksuksa v/;;u djrs gSa] dks çnf”kZr djrk gSa% 

 

(A) 1 
(B) 2    
(C) 3 
(D) vi;kZIr vk¡dM+s 

95. Select the word which satisfies the logical 
relationship. 
Job : Unemployment : : Money: 

(A) Wealth 
(B) Poverty 
(C) Purchase 
(D) Commerce 

95. ml “kCn dks pqusa tks rkfdZd lEcU/kksa dks iw.kZ djrk gksA 

ukSdjh % csjkstxkj % % eqæk% 

(A) /ku 
(B) xjhch 
(C) Ø; 
(D) okf.kT; 
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96. Vasant says, “I have as many sisters as brother”. 
Vaishali say, “Each of us sisters has only half as 
many sisters as brothers”. Assuming that Vasant 
and Vaishali are brother and sister, how many 
brothers and sisters are there in the family? 
(A) 8 brothers and 6 sisters 
(B) 6 brothers and 5 sisters 
(C) 5 brothers and 4 sisters 
(D) 4 brothers and 3 sisters 

96. olar dgrk gS] ßesjh ftruh cgusa gSa mrus gh HkkbZ gSaÞA oS”kkyh 

dgrh gS] ßge lHkh cguksa esa çR;sd ds ikl ftrus HkkbZ gSa 

mldh vk/kh cgusa gSaÞA ;g ekurs gq, fd oalr ,oa oS”kkyh 

HkkbZ&cgu gSa] ifjokj esa fdrus HkkbZ vkSj fdruh cgusa gSa\ 

(A) 8 HkkbZ ,oa 6 cgu 
(B) 6 HkkbZ ,oa 5 cgu 
(C) 5 HkkbZ ,oa 4 cgu 
(D) 4 HkkbZ ,oa 3 cgu 

DIRECTIONS: (Question No. 97 & 98) Study the following 
information carefully to answer the given question– 

Among five students P, Q, R, S and T each got a 
different percentage of marks in the written 
examination for Metro Assistant held in 2013. P 
scored more than Q but less than S. Q scored 79% 
marks. The one who scored the minimum marks 
scored 63% and the one who scored the highest 
marks scored 88%. R scored more than only T. 

97. Who scored the second lowest marks? 
(A) Q 
(B) R 
(C) S 
(D) T 

funsZ”k% ¼ç”u la[;k 97 ,oa 98½ fuEufyf[kr lwpukvksa dks /;kuiwoZd 

i<+dj fn;s x, ç”uksa ds mÙkj nsaA 

esVªks lgk;d dh fyf[kr ijh{kk tks 2013 esa vk;ksftr gqbZ Fkh 
mlesa P, Q, R, S ,oa T ik¡p fo|kfFk;ksa us fHké&fHké çfr”kr 
vad çkIr fd;sA P ds çkIrkad Q ls vf/kd gSa ysfdu S ls de 
gSaA Q ds çkIrkad 79% gSaA ,d ftlds U;wure vad gSa mlds 

63% vad gSa vkSj ,d ftlds loksZPp vad gSa mlds çkIrkad 

88% gSaA R ds çkIrkad dsoy T ls vf/kd gSaA 

97. dkSu fuEure çkIrkadks esa f}rh; LFkku ij gS\ 

(A) Q 
(B) R 
(C) S 
(D) T 

98. Who scored the second highest marks in the 
Metro Assistant exam held in 2013? 
(A) Q 
(B) R 
(C) P 
(D) S 

98. esVªks lgk;d 2013 esa vk;ksftr ijh{kk esa f}rh; loksZPp 

çkIrkad okyk dkSu gS\ 

(A) Q 
(B) R 
(C) P 
(D) S 

DIRECTIONS: (Questions No. 99 & 100) The following are 
the statistics of some matches of a cricket team bowlers 
and the wickets taken. A, B, C & D are the fast bowlers of 
the team. 

  

99. If the number of wickets taken by spinners is 15, 
the total number of wickets taken by bowlers is: 
(A) 50 (B) 45 
(C) 40 (D) 35 

funsZ”k% ¼ç”u la[;k 99 ,oa 100½ ,d fØdsV ny xsancktksa ds dqN 
[ksyksa rFkk muds }kjk fy, x, fodVksa ds dqN vkdM+s uhps fn, x, gSaA 

A, B, C ,oa D ny ds rst xsanckt gSaA 

  

99. ;fn fQjdh xsancktksa }kjk yh xbZ fodVksa dh la[;k 15 gS] rks 
xsancktksa }kjk yh xbZ dqy fodVksa dh la[;k gksxh% 

(A) 50 (B) 45 
(C) 40 (D) 35 

100. What is ratio of the wickets taken by C to the 
wickets that fell through run-outs: 
(A) 2:5 
(B) 1:5 
(C) 3:10 
(D) 4:5 

100. ^C* }kjk fy, x, fodVksa dh la[;k ls ju vkmV }kjk fxjs 

fodVksa dh la[;k dk vuqikr gS% 

(A) 2:5 
(B) 1:5 
(C) 3:10 
(D) 4:5 

 

PHVBRHH–49 ( 5 1 7 3 1 3 )  [A–12]



S 

bl iqfLrdk ij dqN Hkh fy[kus ls igys  

fuEufyf[kr funsZ'k /;kuiwoZd i<+sa 

1. viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd blesa 100 ç'u gSaA çR;sd 
ç'u iqfLrdk dh fljht fHké gksxh ¼ç”u&iqfLrdk la[;k ,oa ç”u&iqfLrdk fljht dk la;kstu½A vkidks OMR mÙkj if=dk ij 

lgh ç'u&iqfLrdk fljht ,oa ç”u&iqfLrdk la[;k fy[kuk gSA iqu% ;g Hkh ij[k ysa fd blesa fçafVax laca/kh vFkok vU; fdLe dh 

dksbZ deh ugha gSA ;fn fdlh çdkj dh dksbZ deh gks rks i;Zos{kd dks lwfpr djsa vkSj ç”u&iqfLrdk cnydj ,d u;h iqfLrdk ,oa 

,d u;h OMR ysaA bl lanHkZ esa fdlh Hkh çdkj dh dksbZ f'kdk;r ij ckn esa dksbZ fopkj ugha fd;k tk,xkA 

egRoiw.kZ uksV% vks-,e-vkj- mÙkj if=dk vH;FkÊ ds ç”u&iqfLrdk fljht ,oa ç”u&iqfLrdk la[;k ds la;kstu ls ewY;kafdr 

dh tk;sxhA vr% vkidks vks-,e-vkj- mÙkj if=dk ij lgh ç”u&iqfLrdk fljht ,oa ç”u&iqfLrdk la[;k fy[kuh pkfg,A buesa 

ls fdlh ,d esa Hkh xyrh gksus ij vkidh vks-,e-vkj- mÙkj if=dk fujLr gks ldrh gSA vks-,e-vkj- mÙkj if=dk esa 

ç”u&iqfLrdk la[;k ,oa ç”u&iqfLrdk fljht ugha Hkjus ij vH;FkÊ ds mÙkj if=dk dk ewY;kadu ugha fd;k tk;sxk ftldh 

ftEesnkjh Lor% vH;FkÊ dh gksxhA 

2. iqu% ç”u iqfLrdk ds pkj Hkkx ¼A, B, C ,oa D½ gSa gj Hkkx dks mÙkh.kZ djus ds U;wure vad fu/kkZfjr gSaA blfy, lHkh Hkkxksa 

dks gy djus dk ç;kl djsaA 

3. vks-,e-vkj- mÙkj if=dk ij ckWDl dks Hkjus ds fy, uhys@dkys ckWy Iokb±V isu ls fy[ksaA vks-,e-vkj mÙkj if=dk ij xksys 

dks iw.kZ :i ls uhys@dkys ckWy Iokb±V isu ls HkjsaA tks Hkh mÙkj lgh@loZJs"B gS mldks OMR mÙkj i= esa fn;s funsZ'k ds 

vuqlkj fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 
4. dsYdqysVj] LykbM:y] eksckbZy]  dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn 

dk ç;ksx ijh{kk d{k esa oftZr gSA 
5. jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,] OMR mÙkj if=dk ij dksbZ Hkh jQ+ dk;Z u djsaA fdlh vU; 

dkxt+ ij bls djus dh vuqefr ugha gSA 
6. lokZf/kd egRoiw.kZ%& ijh{kk ds iwjk gksus ij vkSj ijh{kk d{k NksM+us ls igys bl mÙkj&if=dk dh ewy çfr dks ,gfr;kr ds lkFk 

vyx djds d{k fujh{kd dks nsa vkSj dkcZuysl dkWih vius ikl j[ksxsaA vks-,e-vkj- mÙkj if=dk dh ewy çfr d{k fujh{kd 

dks nsus dh ftEesnkjh vH;FkÊ dh gS vxj oks ,slk ugha djrk vkSj ewy çfr vius lkFk ys tkrk gS rks mldh vH;fFkZrk jí 

dj nh tk;sxhA 
7. gj lgh mÙkj ds fy, ,d vad fn;k tk;sxkA xyr mÙkj ds fy, udkjkRed vadu ykxw ugha gSA gj ,d ç'u ds fy, dsoy 

,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa dksbZ Hkh dfVax ;k 

vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u i= f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA vuqokfnr fgUnh laLdj.k esa fdlh Hkh fHkérk gksus 

ij ewY;kadu ds fy, vaxzsth laLdj.k dks vfUre ekuk tk;sxkA 
8. ijh{kk lekfIr ds i”pkr~ vki viuh ç”u&iqfLrdk ,oa vks-,e-vkj- dh dkcZu dkWih ¼vH;FkÊ ds fy,½ ys tk ldrs gSaA 
 


